CLEAN LAKES, INC.

PRICING AND BILLING SCHEDULE

Facility: <u>Calabasas Lake</u>	Annual Frequency	Cost Per Frequency	Annual Cost
Aquatic Weed and Algae Control			
a. Aquatic Weed Treatment (May-Oct)	4	\$6,210.80	\$24,843.20
b. Algae Treatment (May-Oct)	3	\$4,472.72	\$13,433.16
Mosquito and Midge Control Treatment (March-Sept)	5	\$2,728.85	\$13,644.25
3. Sidewall and Bottom Liner Sidewall Inspection and Report (Jan-Jul)	2	\$440.00	\$880.00
4. Water Quality Management			
a. Analyzing and Monitoring (Weekly)	52	\$1,592.75	\$82,823.00
b. Algae Species Identification	2	\$1,007.50	\$2,015.00
c. Monthly Report	12	\$880.00	\$10,560.00
d. Trash/Debris Removal Out of Lake	260	\$182.52	\$47,456.25
5. Water Level Monitoring – Inspection, Fill and Reporting (Reporting Is Required Monthly to City)	260	\$29.00	\$7,540.00
 Monitoring Inspection of 7 Pump Systems – General Maintenance and Cleaning (weekly) (Aeration System Filters, Aeration Motor Valves, and Parts) 	52	\$174.00	\$9,048.00
7. Lake – Beach Sand (Rake and Groom Weekly)	52	\$69.60	\$3,619.20

CLEAN LAKES, INC.

a.	Beach Sand/Sidewalk Trash and Debris Removal	260	\$116.00	\$30,160.00
b.	Fluff Up Beach Sand Area (Monthly)	12	\$72.50	\$870.00
C.	Sidewalk – Sweeping/Trash and Debris Removal	208	\$116.00	\$24,128.00
Total A	nnual Cost Per Year			\$273,236.31
Total Estimated Man-Hours Per Year				2,477.40

^{*}Frequency may be reduced if further reduction is necessary

Lake Maintenance Unit Price List

Hourly Mechanic Rate	\$ 174.00
2. Hourly Mechanic Assistant	\$ 116.00
3. 5 Gallon Aquatic Plant	\$ 125.90

^{*}Additional equipment replacement or repair will not be completed without written authorization and approval from the City of Calabasas. Additional work must include itemized repair and associated parts, labor, and tax costs.

^{**}Alternatively, if the City would consider modifying the frequency for Item 4.a to once per month (12 times per year), which would provide the required data, the cost for the line item would decrease to \$19,113.00 per year representing a significant saving of \$63,710.00 in the overall cost of services.

OP ID: PC

ACORD

CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 12/14/2022

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER	509-891-1000	CONTACT Patti Carmichael			
Blasingame Insurance 200 N. Argonne Rd Spokane, WA 99212 Dan C. Wareham		PHONE (A/C, No, Ext): 509-891-1000	FAX, No): 509-	891-1430	
		E-MAIL ADDRESS: patti@blasingameins.com			
		INSURER(S) AFFORDING COVE	RAGE	NAIC#	
		INSURER A : Crum & Forester Specialty			
NSURED Clean Lakes Inc		INSURER B : Ohio Casualty Insurance		24074	
2150 Franklin Canvon Rd		INSURER C:			
Martinez, CA 94553		INSURER D :			
		INSURER E :			
		INSURER F:			
COVERACES	CERTIFICATE NUMBER.	DEVISIO	N NI IMBED.		

l					Ť					
l					-	INSURER E :				
_	-0.VV		une e			INSURER F:				
					NUMBER:			REVISION NUMBER:		
I IN	IDIC/	S TO CERTIFY THAT THE POLICIES ATED. NOTWITHSTANDING ANY RE IFICATE MAY BE ISSUED OR MAY JSIONS AND CONDITIONS OF SUCH	EQUIF	REME	NT, TERM OR CONDITION (THE INSURANCE AFFORDE	OF ANY CONTRACT ED BY THE POLICIE	OR OTHER I S DESCRIBEI	DOCUMENT WITH RESPEC	CT TO I	WHICH THIS
INSR LTR				SUBR		POLICY EFF (MM/DD/YYYY)	POLICY EXP	LIMITS	3	
A	X	COMMERCIAL GENERAL LIABILITY	INSU	WVD		THINDDITTITI	IIIIIII DO/IIII	EACH OCCURRENCE	\$	1,000,000
	-	CLAIMS-MADE X OCCUR	x	x	EPK-140138	06/28/2022	06/28/2023	DAMAGE TO RENTED PREMISES (Ea occurrence)	s	50,000
	X	Watercraft Liab	^	^	OMH5404924-18	06/28/2022		MED EXP (Any one person)	s	5,000
						55725725		PERSONAL & ADV INJURY	\$	1,000,000
	GE	N'L AGGREGATE LIMIT APPLIES PER:						GENERAL AGGREGATE	\$	2,000,000
	X	POLICY X PRO-						PRODUCTS - COMP/OP AGG	\$	2,000,000
		OTHER:						Emp Ben.	s	1,000,000
В	AU	TOMOBILE LIABILITY						COMBINED SINGLE LIMIT (Ea accident)	\$	1,000,000
	X	ANY AUTO	x	x	BAO57847382	06/18/2022	06/18/2023	BODILY INJURY (Per person)	\$	
		OWNED AUTOS ONLY X SCHEDULED AUTOS	~	1				BODILY INJURY (Per accident)	\$	
	X	HIRED AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$	
		ACTOS CINET						A. A. C.	\$	
A		UMBRELLA LIAB X OCCUR						EACH OCCURRENCE	\$	4,000,000
	X	EXCESS LIAB CLAIMS-MADE	X	X	EFX-120574	06/28/2022	06/28/2023	AGGREGATE	\$	4,000,000
		DED X RETENTION\$ 0							\$	
A	WOI	RKERS COMPENSATION DEMPLOYERS' LIABILITY						X PER OTH- STATUTE ER		
					EPK-140138	06/28/2022	06/28/2023	E.L. EACH ACCIDENT	\$	1,000,00
	(Mai	PROPRIETOR/PARTNER/EXECUTIVE ICER/MEMBER EXCLUDED?	N/A		WASHINGTON STOP GA	P		E.L. DISEASE - EA EMPLOYEE	s	1,000,00
		s, describe under SCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT	\$	1,000,00
Α	Pro	fessional			EPK-140138	06/28/2022	06/28/2023	Prof		1,000,00
A	Pol	lution Liab	1		EPK-140138	06/28/2022	06/28/2023	Poli		1,000,00
DES	CRIP	TION OF OPERATIONS / LOCATIONS / VEHIC	LES (ACOR	D 101, Additional Remarks Schedu	le, may be attached if mo	re space is requi	red)		
The	Cit	ty of Calabasas and The City of	of Ca	alaba	sas as the Successor	Agency to				

The City of Calabasas and The City of Calabasas as the Successor Agency to the Dissolved Redevelopment Agency, their officers, officials, employees and volunteers are named as additional insureds for products and completed operations. Coverage is primary non contributory and per project aggregate applies. Excess liability is following form. Policy forms attached.

CERTIFICATE HOLDER	CANCELLATION
City of Calabasas Department of Public Works	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
100 Civic Center Way Calabasas, CA 91302	AUTHORIZED REPRESENTATIVE Calacham



ADDITIONAL INSURED – OWNERS, LESSEES OR CONTRACTORS

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART CONTRACTORS POLLUTION LIABILITY COVERAGE PART

SCHEDULE

Name Of Additiona	I Insured Person(s) or Organiza	ation(s)	
Blanket when specifically required in a written contract with the named insured.			

SECTION III – WHO IS AN INSURED within the Common Provisions is amended to include as an additional insured the person(s) or organization(s) indicated in the Schedule shown above, but only with respect to liability caused, in whole or in part, by "your work" for that insured which is performed by you or by those acting on your behalf.

ALL OTHER TERMS AND CONDITIONS OF THE POLICY REMAIN UNCHANGED.

EN0111-0211 Page 1 of 1

PRIMARY AND NON-CONTRIBUTORY ADDITIONAL INSURED WITH WAIVER OF SUBROGATION

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART CONTRACTORS POLLUTION LIABILITY COVERAGE PART ERRORS AND OMISSIONS LIABILITY COVERAGE PART

SCHEDULE

Name Of Additional Insured Person(s) or Organization(s)	
Blanket when specifically required in a written contract with the named insured.	

- A. SECTION III WHO IS AN INSURED within the Common Provisions is amended to include as an additional insured the person(s) or organization(s) indicated in the Schedule shown above, but only with respect to liability arising out of "your work" for that person or organization performed by you, or by those acting on your behalf.
- B. As respects additional insureds as defined above, this insurance also applies to "bodily injury" or "property damage" arising out of your negligence when the following written contract requirements are applicable:
 - 1. Coverage available under this coverage part shall apply as primary insurance. Any other insurance available to these additional insureds shall apply as excess and not contribute as primary to the insurance afforded by this endorsement.
 - 2. We waive any right of recovery we may have against the person(s) or organization(s) indicated in the Schedule shown above because of payments we make for injury or damage arising out of "your work" performed under a written contract with that person(s) or organization(s).
 - 3. The term "additional insured" is used separately and not collectively, but the inclusion of more than one "additional insured" shall not increase the limits or coverage provided by this insurance.

This Endorsement does not reinstate or increase the Limits of Insurance applicable to any "claim" to which the coverage afforded by this Endorsement applies.

ALL OTHER TERMS AND CONDITIONS OF THE POLICY REMAIN UNCHANGED.

EN0147-1111 Page 1 of 1

AGGREGATE LIMITS OF INSURANCE PER PROJECT

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART

Under the Common Provisions, Section IV – LIMITS OF INSURANCE AND DEDUCTIBLE, item 2. is amended by the addition of the following:

The General Aggregate Limit applies separately to each of your projects away from premises owned by or rented to you.

ALL OTHER TERMS AND CONDITIONS OF THE POLICY REMAIN UNCHANGED.

EN0301-0914 Page 1 of 1

ADDITIONAL INSURED – OWNERS, LESSEES OR CONTRACTORS – COMPLETED OPERATIONS

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART

SCHEDULE

Name of Additional Person(s) or Organization(s):	Location And Description Of Completed Operations
Blanket when specifically required in a written contract with the named insured.	Blanket when specifically required in a written contract with the named insured.
Information required to complete this Schedule, if not shown at	pove, will be shown in the Declarations.

A. Section III – Who Is An Insured within the Common Provisions is amended to include as an insured the person(s) or organization(s) shown in the Schedule, but only with respect to liability for "bodily injury" or "property damage" caused, in whole or in part, by "your work" at the location designated and described in the schedule of this endorsement performed for that additional insured and included in the "products-completed operations hazard".

EN0320-0211 Page 1 of 1

AMENDED WAIVER OF TRANSFER OF RIGHTS OF RECOVERY AGAINST OTHERS TO US

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART CONTRACTORS POLLUTION LIABILITY COVERAGE PART ERRORS AND OMISSIONS LIABILITY COVERAGE PART THIRD PARTY POLLUTION LIABILITY COVERAGE PART ONSITE CLEANUP COVERAGE PART

SCHEDULE

Name of Person(s) or Organization(s)	
Blanket when specifically required in a written contract with the named insured.	

SECTION VI – COMMON CONDITIONS, item 17. Transfer Of Rights of Recovery Against Others To Us within the Common Provisions is amended by the addition of the following:

Solely as respects the person(s) or organization(s) indicated in the Schedule shown above, we waive any right of recovery we may have against the person(s) or organization(s) indicated in the Schedule shown above because of payments we make for "damages" arising out of your ongoing operations or "your work" performed under a written contract with that person(s) or organization(s) and included in the "products-completed operations hazard".

However, this waiver shall not apply to "damages" resulting from the sole negligence of the person(s) or organization(s) indicated in the Schedule shown above.

ALL OTHER TERMS AND CONDITIONS OF THE POLICY REMAIN UNCHANGED.

EN0109-0211 Page 1 of 1



GENERAL CHANGE ENDORSEMENT

Policy Change Number B

		14dilloor E	
POLICY NUMBER	POLICY CHANGES	COMPANY	
EPK-140138	06/28/2022	Crum and Forster Specialty Insurance Company	
NAMED INSURED		-	
Clean Lakes, Inc.			
COVERAGE PARTS AFFE	CTED		
COMMERCIAL GENERAL	LIABILITY COVERAGE PART		
	ON LIABILITY COVERAGE PA	ART	
	CHANGES		
	01 // 11 0 = 1	-	

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

PRIMARY AND NON-CONTRIBUTORY ADDITIONAL INSURED WITH WAIVER OF SUBROGATION

SCHEDULE

Name of Additional Insured Person(s) or Organization(s)

Blanket when specifically required in a written contract with the named insured.

A. **SECTION III – WHO IS AN INSURED** within the Common Provisions is amended to include as an additional insured the person(s) or organization(s) indicated in the Schedule shown above, but solely with respect to "claims" caused, by "your work" for that person or organization performed by you, or by those acting on your behalf.

This insurance shall be primary and non-contributory.

We waive any right of recovery we may have against the person(s) or organization(s) indicated in the Schedule shown above because of payments we make for "damages" arising out of "your work" performed under a designated project or contract with that person(s) or organization(s).

B. This Endorsement does not reinstate or increase the Limits of Insurance applicable to any "claim" to which the coverage afforded by this Endorsement applies.

ALL OTHER TERMS AND CONDITIONS OF THE POLICY REMAIN UNCHANGED

CONDITIONS OF	THE POLICE NEWARK GROUNTED	
==		
,	Authorized Representative Signature	

EN0137-0211 Page 1 of 1